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> restart;

1

one:=diff (y(x) ,x)=x*y(x);

one == % y(x)=xy(x)

dsolve (one) ;

1

1
12

y(x)= Cle

two:=x*2*diff (y(x) ,x)=(y(x)) *2+y (x) *x;

d
two = (Ey(’”) —y(x)? +xp(x)

dsolve (two) ;

1

thre:=diff (y(x) ,x)+y(x) *x=x;

thre .= % y(x) +xy(x)=x

dsolve (thre) ;

LI

yx)=1l4+e 2 CI

four:=diff (y(x) ,x)+y(x)*sin(x)-y(x)*2*cos (x)=0;
four = % y(x) +y(x) sin(x) —y(x)zcos(x) =0

dsolve (four) ;

ecos(x)

yix) =

[( -t cos(x) ) dx+ CI

five:=diff (y(x) ,x)+y(x)*sin(x)=0;

five .= d

Ey

(x) +y(x) sin(x) =0
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dsolve (five) ;

icsl:=y(0)=1;

ics] =y(0) =1
dsolve ({five,icsl});
ecos(x)
y(x) = .
ics2:=y(0)=exp (1) ;
ics2 =y(0) =e
dsolve ({five,ics2});
cos(x)
y(x)=e

one2:=diff (y(x) ,x,x)=-y(x);
2

one2 = % y(x)=-yx)

dsolve (one2) ;
y(x) =_ClIsin(x) + C2 cos(x)

two2:=diff (y(x) ,x,x)=x"2+diff (y(x) ,x);
& > d
two2 = —= y(x) =x"+ — y(x)
dx

2 dx
dsolve (two2) ;

y(x) = —xz—%x3+_Cl ¢ —2x+ C2

thre2:=diff (y(x) ,x,x)=sin(2*x-1) ;
2

thre2 = é y(x)=sin(2x—1)

dsolve (thre2) ;
y(x) :_% sin(2x—1)+ Clx+ C2

2

four2:=diff(y(x) ,x,x)+2*diff (y(x) ,x)-y(x)=0;

(10)

an

(12)

13)

(14)

15)

(16)

a7

(18)

19)

(20)

M1



2
four2 = % y(x) +2 (%y(x)) —y(x)=0

dsolve (four2) ;
1 VT e VT )

y(x) =
2
five2:=diff(y(x) ,x,x)+diff (y(x) ,x)-2*y(x)=x*sin(x) ;
& d .
five2 = ? y(x) + . y(x) —2y(x) =xsin(x)
dsolve (five2) ;
-2x |

=¢'_C2+
ylx)=e _C2+e 50 50

six2:=diff (y(x) ,x,x)+3*diff (y(x) ,h x)+2*y(x)=exp(2*x)*sin(x);

2

six2 = % y(x) +3 (%y(x)) +2 p(x) =sin(x) "

dsolve (six2) ;
—(_ 7 3x 11 3x . X -X
y(x) ( 170 e cos(x) + 170 e sin(x) —e = _CI —I—_CZJ e

iesl:=y(0)=1, (D(y)) (0)=0;
ics] =y(0)=1,D(y)(0) =0

dsolve ({six2,icsl});

y(x)=( ! e’ cos(x) +Le3xsin(x) _ A8 A) o

" 170 170 17 ¢ T 70

ics2:=y(0)=2, (D(y)) (0)=-1;
ics2:=y(0)=2,D(y)(0)=-1

dsolve ({six2,ics2});

y(x) = (—L e**cos(x) + A e

18 o 31
170 170 sin(x) + je

17 ¢ T 0

sys_ode:=diff (y(t), t)=x(t) diff(x(t),t)=-y(t);

() =-y(¢)

4 d
sys_ode: s y(t) =x(1), i X

Cl+ — (-5x—11) cos(x) -I—L (-15x+2) sin(x)
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> dsolve([sys_ode]);
{x(t) = _ClIsin(t) + C2cos(t),y(t) =-_Clcos(t) + C2sin(t)} 32)

> ics:=x(0)=1,y(1)=0;
ics =x(0)=1,y(1)=0 33)

> dsolve ([sys ode, ics]);

{x(t) % + cos(t), y(£) = -

_ sin(1) cos(t)

e TIR sin(t)} (4)




